File Number: 2035688

Invoice No. 90598237

10/26/03 JEV	Review fee application documentation received	.20
10/28/03 JEV	Conferences with K. Batik and D. Swan regarding effective date issues (.2); telephone conversation with K. Wilson and e-mail correspond with K. Bryant of Greenebaum regarding same (.2)	.40
10/28/03 MJA	Run extranet search for Hatch Associates order, print and forward to D. Austin per request	.30
10/29/03 RGS	Telephone conference with P. Boger (.3); telephone conference with B. Dropkin (.2); conference with D. Austin (.2); review Hatch Associates engagement material (.3); telephone conference with R. Rosenberg regarding Hatch Associates (.1)	1.10
10/30/03 DAA	Revise motion to approve Hatch Associates and order	1.00
10/30/03 DAA	Revise McLaughlin affidavit	.60
10/30/03 DAA	Revise Hatch Associates' motion and order and e-mail to K. Bryant	.30
10/31/03 DAA	Review Hatch Associates' affidavit and letters to K. Bryant	.20

Timekeeper	Rate/HR	Hours	Fees
Robert G. Sable	\$410.00	4.2	\$1,722.00
David I. Swan	\$235.00	1.6	\$376.00
Daniel A. Austin	\$225.00	2.9	\$652.50
James E. Van Horn	\$170.00	8.1	\$1,377.00
Heather Rajoppi Hickman	\$110.00	0.2	\$22.00
Mary Jo Albright	\$105.00	11.7	\$1,228.50
TOTAL	FEES	28.7	\$5,378.00

Special Metals Corporation

File Number: 2035688

Page 55 <u>Invoice No. 90605722</u> December 11, 2003

Re: Retention of Professionals and Fee Applications Our File No. 2035688-0022

For Services Rendered Through Nov 30, 2003

11/01/03 JEV	E-mail correspond with B. Kogut regarding fee application inquiries	.10
11/03/03 RGS	Review fee petition for motion	.20
11/03/03 DAA	Call from P. Boger regarding Hatch Associates retention (.2); call to K. Bryan regarding motion to retain Hatch Associates (.1)	.30
11/03/03 DAA	Telephone conference with K. Bryant regarding application to employ Hatch Associates	.20
11/03/03 DAA	Telephone conference with K. Bryant (.1); telephone conference with P. Boger regarding motion to employ Hatch Associates (.2)	.30
11/03/03 DAA	Arrange to send Hatch Associates' engagement to K. Bryant	.30
11/03/03 DAA	E-mail with P. Boger	.20
11/03/03 DAA	E-mail with P. Boger regarding motion to employ	.20
11/03/03 JEV	Revise letter agreement with Elkhart County and Commonwealth of Kentucky	.80
11/03/03 JEV	Telephone conversation with B. Kogut regarding fee application process (.3); conference with H. Hickman regarding retrieving and sending pleadings to B. Kogut (.1); e-mail correspond with K. Wilson regarding B. Kogut's fee application filing (.1); review related professional fee issues (.3)	.80
11/03/03 HRH	Transmit U.S. Trustee's guidelines to B. Kogut upon attorney's request	.20
11/06/03 JEV	Review bond firm draft application (.2); telephone conversation with B. Kogut and J. Zagraniczry regarding monthly fee application preparation and procedures (.4); conference with staff regarding coordinating procedures with Greenebaum (.1)	.70

Special Metals Corporation

File Number: 2035688 Page 56 Invoice No. 90605722 December 11, 2003

11/10/03 JEV	Review and edit fee petition	1.50
11/11/03 DAA	Check docket for objections to Hatch Associates retention (.1); e-mail R. Boger (.2)	.30
11/11/03 JEV	Review and revise fee petition	.80
11/11/03 JEV	Make final revisions to fee petition detail	.50
11/17/03 DAA	Telephone conference with P. Boger regarding Hatch Associates retention (.2); check docket and letter to P. Boger with attachment (.3)	.50
11/20/03 DAA	Work on payment of expenses to member of 1114 committee (.3); review files (.1); letter to D. Wanlass and e-mail to T. Lemke (.4)	.80
11/23/03 DIS	Revise professional fee estimate analysis	.20
11/23/03 JEV	Prepare nineteenth monthly fee application and exhibits	1.60
11/23/03 JEV	Make revisions to monthly fee application	.70
11/24/03 RGS	Review and revise fee petition	.40
11/24/03 DIS	Professional fee calculations and revise summary (.5); telephone conference with P. Hayden (.2)	.70
11/24/03 JEV	Make final revisions to nineteenth monthly fee application and exhibits	1.50
11/25/03 DIS	Revise summary of estimated professional fees	.30
11/25/03 DIS	Telephone conference with J. Spradlien (.1) and telephone conference with G. Kiser regarding outstanding professional fees due (.2); e-mail correspondence with J. Gillespie and D. Bias (.2)	.50
11/26/03 DIS	Review summary of unpaid professional fees for closing estimates (.3); telephone conference with G. Kiser (.2) and e-mail correspondence with D. Bias (.2) regarding Buck Consultants fees outstanding	.70
11/26/03 JEV	Review Bond Schoeneck's correspondence regarding monthly fee application	.10

Special Metals Corporation
File Number: 2035688

Invoice No. 90605722

Page 57

December 11, 2003

Timekeeper	Rate/HR	Hours	Fees
Robert G. Sable	\$410.00	0.6	\$246.00
David I. Swan	\$235.00	2.4	\$564.00
Daniel A. Austin	\$225.00	3.1	\$697.50
James E. Van Horn	\$170.00	9.1	\$1,547.00
Heather Rajoppi Hickman	\$110.00	0.2	\$22.00
TOTAL	FEES	15.4	\$3,076.50

TOTAL FOR MATTER 2035688-0022

\$3,076.50